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jui istri i 6 students in her tutoring group.
1. Ms. Hayes has-:- liter of juice. She distributes it equally to
#
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a. How many liters of juice does each student get: )},\_
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b. How many more liters of juice will Ms. Hayes need if she wants to give each of the 24 students in her
class the same amount of juice found in Part (a)?
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2. Lucia has 3.5 hours left in her workday as a car mechanic. Lucia needs o of an hour to complete one oil
change.

a. How many oil changes can Lucia complete during the rest of her workday?
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b.  Lucia can complete two car inspections in the same amount of time it takes her to complete one oil
chaoge. How long does it take her to complete one car inspection?

one ol dmung(:—ﬁ hr or 30 min
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€. How many inspections can she complete in the rest of her workday?
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